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18. m = ~20 -2 n= 1-20 -10 -3 1 5 —10 1 5 -3 -10
. 2 7 2 7 265 ¥= ==
1-2 1 -2 R 1 11 11 1
2 1 -4 = 2 1 -4
— 4-2)— 7(-20) — 2(-20) — 4(1) 5 -3 1 2 —:: ? 5 —3 1
2(-2) - 7(1) 2(-2) - T(1) - -
=132 =4 = —a = —az ==
—11 11 - 1 . —4
=-12 =4 The solution is (—1, 3
The solution is (—12, 4). il L i<z g
5 2 1 -2 6 4 -2 6 2 4
h 5 3
H ‘2 P 4 14 4 o 4 6 14
272 3 =
22.r=1+1— s=17 1 e 12 1
T % T ‘ —2 6 2 -2 6 2 -2
21 2 MODE: & Gount domn 4 4 6 4 s & 1
32 3 _ 112 _ 336
%(,g, 112 112
= =1 =—-1 =3
Ns Che solution is (2, —1, 3)
- = i 1 -1 -5 1 -2 -1
13
T30 1 5 —2 1 2 5
= =10 4 -1 1 £ A —F
. P s= t=
The solution is (3, 10). 1 -2 -8 T -2 5
1 2 -2 1 2 -2
& 1 4 £ A i
_ -33 _ 117 _ —42
7%2 7% g 7%2 T T 57 T 57
40. v;x = T y= — _11 — 39 — _14
E g 73 19 19 19
o 11 39 14)
_ 28(=T) — 8(~55) _ 3(-55) - 28(5) The solution is { —g, 15 — 19
3(=7) - 8(5) 3(-7) - 8(5)
_ 244 _ 305
sy —61
=_4 =5

The solution is (—4, 5).
41. Solve the following equation to find the measure

of 2 ABC.
x+ (52— 5) =180
5 -
Sy - 5=180
5. _
Sy =185
v=111

Substitute 111 for x in the expression %x —5to
find the measure of ZCBD.

2, _r_2 —
5% —5=3(111) ~5 or 69

Thus /£ ABC measures 111°, and ZCBD
measures 69.
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26. Find the determinant.
4 -3
2 7
Since the determinant does not equal 0, the
inverse exists.

1 d —b|_ 1 7 —(=3)
ad—be| —¢  a| 4D-(-3x2)| -2 4

e B
1 7 3 34 34
Tt|zg 4L 2
17 17

=28 — (—6)or 34

27. Find the determinant.
=W - e i
5 6 12— Oor —12
Since the determinant is not equal to 0, the
inverse exists.

1 d —-b - 1 6 0
ad—bc| —¢ a —2(6)— 06} =5 —2
1
__1| 6 0 =2
T Tz|-5 —2|°T| &
12

28. Find the determinant.
-4 6

6 -9 =36—36o0r0

Since the determinant is 0, the inverse does not

exist.

29. Find the determinant.
2 B gy
‘6 1‘*2 (—=30) or 32
Since the determinant is not equal to 0, the
inverse exists.

20. Find the inverse of the coefficient matrix.
5 3

ey T
At =mce|-2 1

_1| 5 38
Tar|-2 7

Multiply both sides of the matrix equation by A~

s B ]l A [

[5 3] [n]- 4] %3]

The solution is (5, —2).

21. Find the inverse of the coefficient matrix.
a1 [-1 -1
A== 5| 2 3

o af—1 =T
T 5-2 3
Multiply both sides of the matrix equation by A~1.
-1 -1] 3 1] [a]|_ _af[-1 -1] [13
5-2 3 2 —1 b|” T5|—2 3 2
1 0] [a]__a[-15
01 b —20
a
b

ol

Il

24. Find the inverse of the coefficient matrix.
59

=
==

The solution is (3, 4).

1
A 10-(-54| -6 2
—1f 59
64| -6 2

Multiply both sides of the matrix equation by A-1.
1| 5 9 (2 -9 Je|_1| 5 9| | 28
64| -6 2 6 5 d 64|-6 2 -12
1 0] [e]_.[ 32
01 d 64 —192
c
al=-
N
The solution is (3, —3).

Find the inverse of the coefficient matrix.
Al=—1

1l
—

—

@ ol
[t}

25.

&

Multiply both sides of the matrix equation by A%,
_1[ 2 5] [6 5] [a]_ _1[ 2 -5] [18
(-3 6| |3 2| |B] "3-3 6 7
10| [a]_ o] 1
01| | 3-12
i
i
[5] 4

The solution is (3, 4).

31. Find the determinant.

3. A

10 8 a 5 1
= B B T

1 2374w 40 10

5 4

inverse exists.

1 d —b|_
ad —be| —¢ al

o
=

B~ g

I
=
=)

@= O

22. Find the inverse of the coefficient matrix.

o1
AT =5 Em| -5 4

_a[ 23
23| -5 4
Multiply both sides of the matrix equation by AL,
af 2 8][4 -3] [a]_1f 2 3].[-17
23| —5 4 5 2 b 23| -5 4 —4
1 0] [a]_1[-46
01 b 23| 69
a]_[-2
bl | 3
The solution is (2, 3).
23. Find the inverse of the coefficient matrix.

1o 1 -8 -1
At = [73 7]
—_af-8 -1
T Tw|-3 7
Multiply both sides of the matrix equation by A1,

_af-8 —1] [7 1] [x]_ _1[-8 -1] [
® -3 1]'[3 -8y ®-3 7| |10

[o 5[]~ %
|

The solution is (6, 1).

26. Write the matrix equation for the system.
6 1] [r]_[o
3 2 s 0
Find the inverse of the coefficient matrix.
i [ 21
Al=usl-3 6
_a[ 2 -1
9(-3 6
Multiply both sides of the matrix equation by A-1.

ER IR R

9-3 6

w o
-

The solution is (2, ~3).

3
4
1
5
il
4
x
5
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Since the determinant is not equal to 0, the
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